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Question 1
Question Type: MultipleChoice

Refer to the exhibit.



Based on the Consistency Group status shown in the exhibit, why is the local copy not connected to the production and remote copy?

Options: 



A- Test a Copy wizard is in progress

B- Consistency Group is failing over

C- Connection to the local copy cluster has failed

D- Local copy has failed

Answer: 
C

Question 2
Question Type: MultipleChoice

Which RPA interface is used for management?

Options: 
A- eth1

B- eth0

C- iSCSI-1



D- iSCSI-2

Answer: 
A

Question 3
Question Type: MultipleChoice

A RecoverPoint administrator wants to add volumes from an unlicensed array to a RecoverPoint/EX cluster. Which supported

RecoverPoint volume type(s) addresses the administrator's requirement?

Options: 
A- Journal and Copy

B- Repository and Journal

C- Repository only

D- Journal only



Answer: 
C

Question 4
Question Type: MultipleChoice

A RecoverPoint administrator performs a Consistency Group failover to a remote copy. What happens to the point-in-time images stored

in the copy Journal after the copy becomes production?

Options: 
A- Images are consolidated

B- Images are deleted

C- Images are replicated to the new copy Journal

D- Images are replicated to the new production Journal

Answer: 
C



Question 5
Question Type: MultipleChoice

A storage administrator is selecting Test a Copy to enable an Image Access for an XtremIO-to-XtremIO Consistency Group. Why is

Logged Access the only allowable access mode with this type of replication?

Options: 
A- Direct Access is not possible because the copy cannot be mounted on XtremIO

B- XtremIO cannot process the changes to the Journal required for Virtual Access

C- XtremIO snapshots are not host accessible when using RecoverPoint

D- XtremIO uses snapshots which are instantly promoted as the SCSI personality of the copy

Answer: 
D

Question 6
Question Type: MultipleChoice



After creating a Consistency Group with a local copy, initialization is taking longer than expected. What is a possible reason for this

condition?

Options: 
A- Limited WAN bandwidth is available to the RPAs

B- Slow performing storage on the production array

C- Copy is not attached to the same splitter as production

D- Size mismatch between the production and the copy volumes

Answer: 
B
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